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B 45z £ Hi HERTR B 60m | 60m | #A&E | 10 X e
1 (kB HAL L 279 290 569 9 2
2 (BE &= FKEH 281| 281 562| 11 3
3 |RII % REH 274 275 549| 6 2
4 |EW Bt FKEh 264| 240 504| 5 1
5 (B HUS KEH 245 235 480| 4 2
6 |®k[R BABK KR 228 235 463| 3 1
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{RC60R{E A ERFT- B F)

B 45z £ Hi HERTR B 60m | 60m | #A&E | 10 X e
1 (JIIE A REH 293 279 572| 8 1
2 | KAT @ s 244 267 511| 6 2
3 (M2 FKEh 219| 253 472| 5 2
4 |8l %84 ERE 216| 216 432| 4 2
5 |BElR XRE ERE 198| 140 338 2 1
6 [RE BE EXE 156 171 327 3 1
7 |FEE B3 EXE 129 141 270 0 0
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JIE £ £ #iI #R3E FF IR B 70m | 70m | #A&% 10 X e
1 K RE XEFS 239 270 509| 5 1
2 |lLE #FiH EHEMHEXRS| 243] 265 508| 5 3
3 |HHF K& 2ES 225 275 500 7 0
4 £k BEER KRS 236| 247 483 7 1
5 |HiFE R 2ES 257 222 479 8 1
6 |2R & XEFS 244 233 477 6 2
7 |kt =7E KERKRS 236 241 477 1 1
8 |KE HE AR RS 229 220 449 3 1
9 |SH M@F ) 220 220 440 3 2
10 |BH IGX £ 204 230 434 5 2
1 |RE HLVE FHEEEKS| 197 235 4321 2 1
12 |AF B ElE 179 239 418 1 1
13 |70 X£F e 1) 199| 216 415 3 1
14 [/MNR T2 ZREAXRS| 226) 183 409| 1 0
15 | EE FHEEXS| 195 206 401 7 1
16 [/hNE =B AR RS 201| 182 383 2 0
17 |&R =D ElE 178| 188 366| 1 1
18 | KR# £F Hras 176 178 354| 1 0
19 | FBR Hras 146| 206 352| 4 1
20 |3 tE Hras 120 223 343 3 1
21 |ZR & AR RS 168| 166 334 3 2
22 |E4E &It EREHAXRS| 156 176 332| 1 1
23 |f&= FTy Hras 164| 160 324 1 0
24 |EH EiR Bras 157| 149 306 1 1
25 [/hith fbsk FHEBEXS| 133] 168 301 1 0
26 |# HFIE XEFS 137| 149 286 0 0
27 [[FEK V&Y Bras 124 159 283 2 0
28 |&HF W= Hras 157| 119 276| 1 0
29 |FI ImtE EREXRS 125 119 244| 1 0
30 [KRA #BF Bras 115 113 228 0 0
31 |RIE XR EXEXRS 102| 114 216 0 0
32 |RE R AR RS 82| 118 200 0 0
33 |hnEk Fik Hras 133 41 174 0 0
34 |EN| ME ElE 81 81 162| 0 0
RO EHEHE 273 265 538 4 3 |OPEN
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B 45z £ Hi HERTR B 70m | 70m | #8&E | 10 X e
1 AR &H9Hh BAR 304 321 625 14 6
2 (&K #hk REHE 301| 293 594| 11 3

e RAE BR/E KZF 275 282 557| 6 2 |OPEN

EH# BHBAFE REX 262 279 541 8 1 |OPEN

ABE HEE REX 241 275 516| 4 0 |OPEN
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JIE £ £ #iI HERTR B 70m | 70m | #A&% 10 X e
1 [EAE BF ElE 297 285 582| 12 4
2 |HFX KNt XEE 284 286 570 5 1
3 |BHAR EX KRS 276| 274 550| 5 2
4 |BE% EF ZHIREFRS| 280 265 545/ 3 2
5 [f8F EKEB KRS 273| 265 538| 8 1
6 |iEiZ ¥R KERKRS 261| 276 537| 8 0
7 (NIF E—EB KRS 265| 260 525/ 8 2
8 |RiIx FE XEFS 252 272 524| 7 1
9 |RIR &BiE AR RS 261 257 518 9 1
10 |Fp4t B—ER ElE 258 260 518 7 3
1 [FX K& ElE 260 253 513| 6 2
12 |28 X#& KERKRS 249| 264 513 5 2
13 |BZE A ElE 236 276 512| 4 3
14 |#EIL #® ElE 255 252 507| 3 1
15 |BE X ElE 257 250 507| 1 0
16 |7k S8 2ES 266 237 503| 4 2
17 [t &K KRS 241| 259 500| 8 3
18 &% &t Hras 258 242 500 6 1
19 [RE BEIR ElE 246 253 499 6 3
20 (=[] #BF AR RS 241 256 497 4 3
21 |#ERE RS XEE 239 255 494 6 2
22 AKX —E KRS 242| 252 494| 3 0
23 [#@ BZE ElE 240 248 488 0 0
24 |HLE i#3} Hras 267 217 484 6 1
25 |IXK B AR RS 249| 233 482 3 0
26 |FAM BK KERKRS 231 251 482 2 0
27 [IMEy KB AR RS 252| 225 477 3 1
28 |EMLEH K5 Hras 227 241 468 4 1
29 |BH $& ElE 215 248 463 6 2
30 |[¥H FiE ElE 237| 226 463 5 1
31 |ES MR KRS 220| 242 462| 0 0
32 |t&IL K¥H 2= 232 229 461 6 3
33 [EAE —ib ElE 223 234 457 4 1
34 |NIHR ZAXER KRS 224| 233 457| 3 1
35 |fhE ERE XEFS 215 238 453 3 0
36 |#ET $hiE FZHEMHEXRS| 235 217 452 4 1
37 (@ &l EHEMHXS| 234 218 452 3 1
38 AKX KE Hras 236 211 447 6 1
39 |EEE PE ZHIBEFRS| 194 253 447 3 1
40 |F & 2= 247| 198 445 6 2
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JIE £ £ #iI HERTR B 70m | 70m | #A&% 10 X e
4 |FEE EA ZHIEFRS| 218] 224 442| 1 0
42 KR BlE RERES 206| 234 440 5 1
43 |FR E FHEHEXS| 224 213 437 4 0
44 | KM IBZE 2ES 213 223 436| 3 1
45 |BEIL =K FHHMHEXRS| 229 202 431 5 4
46 (AR 5T ElE 190| 238 428 4 1
47 |LLBBR &R ElE 228 199 427 2 0
48 [iEER D Hras 208 216 424 1 0
48 |[BKR EFW ZHIREFRS| 238] 186 424 1 0
50 |E+E BHE FHEEXRS| 196] 219 415 6 0
51 |Kir #Hth KRS 198 209 407 5 2
52 |BAR HEE ZHIEFRS| 235 168 403 5 2
53 [FH KA FHEEXS| 197 201 398| 2 0
54 |2H BE Hras 190| 199 389 0O 0
55 |48 BE Bras 174| 209 383 0 0
56 |tiE EA Hras 184| 195 379 2 1
57 [#&E ®EZN AR RS 180| 198 378 5 0
58 |EH FE ElE 182 192 374 2 1
59 | KT && Bras 190 177 367 2 0
60 [k ZEiD HFEHHARS| 171 191 362 3 1
61 [ZE)Il #i HraE 174 185 359 1 1
62 (B8l MER 2ES 173| 181 354| 1 1
63 |TTA = Hras 172| 163 335| 6 4
64 |25 B 25 142| 188 330 2 1
65 |Zk RIS £/E 131 190 321 3 3
66 |%H R 25 138 181 319 2 0
67 |HTH &R 5] 172 146 318| 1 0
68 |HE B—H} Hras 137 171 308 0 0
69 =L 1B Hras 145 161 306 2 1
70 |EHE FEA Bras 139| 160 299| 2 2
71 | AR A 2ES 134| 148 282 0 0
2 |BE EA FHEEXS| 107| 162 269| 1 0
73 [T B Hras 128 132 260 0 0
74 |EEFE K ElE 156 95 251 2 0
75 |[ILA ®E AR RS 17| 123 240 0 0
76 |EH E Hras 101 135 236| 1 0
77 |FW A FRBMEXS 70 119 189] 0 0
78 [#HLE E Hras 50 86 136 © 0
79 | KEBE & AR RS 47 87 134 0 0
80 |[FXE =T EXE 68 60 128/ 0 0




F129RBERTY —F ') —AREHRR [ MRHETERIE]

(RC70R EEAERFT-BF)

(=42 & Bl |EERR| BT RE 70m | 70m | #a&5 | 10

5%

B

81 |[UAR 2 TERfERE 86 86| 0

C




F129RBERTY —F ') —AREHRR [ MRHETERIE]

{RCTORRRZE1E A EBFT - BF)

JIE £ £ #iI HERTR B 70m | 70m | #A&% 10 X e

1 |EHF £ BRR 329 328 657| 20 4

2 |®I B3} B AR 323 326 649| 24 8

3 |%I B BRR 316 318 634| 23 10

4 |BH #BX OBOG 312 319 631 22 8

5 |WH FX XEHE 286 296 582| 11 5

6 (B0 ZEA OBOG 285| 296 581 12 4

7 | kR AXEHE 288 288 576| 12 4

N &7 262| 251 513 6 4

9 |/l E ERER 269 243 512 7 3

10 B#E —=8 EAXxHmHE 247 262 509| 5 0
AH Bifg REX 306 311 617 15 6 |OPEN
ik = BR/E KZF 288 313 601| 17 4 |OPEN
R REX 305 293 598 8 0 |OPEN
BE KiE REX 307| 287 594 13 3 |OPEN
A EAE REX 290| 299 589| 10 4 |OPEN
MO s EHEHE 282 296 578| 8 4 |OPEN
Fi P N o) REX 289 287 576 9 6 |OPEN
FE =t REX 266 301 567 7 4 |OPEN
BREA KiF RIEKE 290 265 555 8 1 |OPEN
LR WEE REX 272 277 549 11 1 |OPEN
B & mER7—Fu—t&| 215 229 444 5 0 |OPEN




F129EIFER7—F ) — A RRHFE[HZBREEHE]

{BB5ORE AZRFT- B %)

B2 £ 7 |BEFE B 50m | 50m | #&&Et | 10 X e
1 |BO & ERER 295 289 584 8 3

2 |faih WA =ERER 251 257 508 5 1

3 |E & BMXMHs 253 243 496 6 0

4 Bk RE tEMER 257 229 486 2 1

5 |BZE EE ERER 245 234 479 3 1

6 |BEF M2 tEMmER 214 163 377 4 1
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B2 £ 7 |BEFE B 50m | 50m | #&&Et | 10 X e
1 (K& BEE LR HE 323| 329 652| 21 4
2 | BE FURMHE 323 324 647| 15 7
3 |FE EIL EAXHHE 321| 308 629 25 6
4 |KE E BMXMHs 316| 312 628 17 6
5 |FNII X EAXHHE 296| 313 609 17 4
6 |BE & BMXMHs 299| 308 607| 9 3
7 |EH B MRXmiHs 296 301 597 13 4
8 |tkH FF BRER 281 260 541 6 2
# #REE REX 347| 343 690 44 11 |OPEN
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B2 £ 7 |BEFE B 30m | 30m | #A&/EH | 10 X e
1 |BEH EE FKE 292 302 594| 11 5
2 |&ER AEFBS 298| 269 567 10 3
3 |f&E = KERRS 273 289 562 7 2
4 IRE %< KERRS 257 285 542 8 3
5 | LB ¥ XEFF 256 275 531| 4 1
6 |BRIX HE TEXREXS 267 242 509 6 4
7 |®ROKE AEFH 257 251 508 7 3
8 It FHAEK EBREHEES| 264| 243 507| 8 2
9 |l B AERS 254 249 503 9 1
10 |38 HEHE KEH 229 271 500 7 4
1 |KEA BE=X KEH 244 253 497| 5 1
12 |# 8 KEH 232 233 465 5 0
13 |EZH LIK KXEFF 215 217 432 2 1
14 |BI WA KERRS 206 224 430 4 2
15 |FRI Fi& KR 235 165 400 5 0
16 |#k[R FH FHEBHEEKS| 189 208 397| 2 0
17 [ILWN #EA XEFF 184 199 383 2 0
18 |Fik =Ty EKEAF 150| 203 353 3 0
19 KR % KEH 195 136 331 1 1
20 |$EO e KERARH 130 115 245| 2 1
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1 |FAF #EwX HHS 231 245 476| 5
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B2 £ 7 |BEFE B 30m | 30m | #A&/EH | 10 X e
1 (Bl &/ tEMER 318| 314 632| 21 5
2 |[BR # XEFRRS 311 312 623 17 4
3 |IUE XBA KERRS 304 286 590/ 9 3
4 &K = BRER 307 281 588| 16 5
5 |*FH xf@ EAXHHE 293| 294 587 10 2
6 |Ki&E ik FrRPRER| 290 296 586| 9 3
7 |EEH & =ERER 283 287 570| 11 2
8 |R&I &KX KEth 267| 298 565 5 2
9 |FE I” HBEHEES| 270 293 563| 11 3
10 | K& X KERKRS 283 275 558 5 1
11 |FE =3 AERS 282 275 557| 8 3
12 [#2E &7 1% 286| 266 552| 3 0
13 |HS EXE RKEA 275 269 544| 13 4
14 |PE H=E &7 1% 260| 282 542| 11 6
15 |RA BE EHEHERS| 269 27 540 9 4
16 |fA#E -8k RKEH 245 285 530 6 2
17 |28 & EHEHEEXS| 274 254 528 5 2
18 |'h& HAC FHEHEXS| 232 279 511 3 1
19 |FWL FIE KEH 246 256 502 7 1
20 |5 IE#R KEH 245 248 493 5 2
21 |FHRE %3} KEH 235 225 460 3 0
22 Rk 22 KEH 234 221 455 3 1
23 | KRB GiE KR 223| 226 449 4 2
24 |HXH BE &7 1% 211|210 4211 0 0
25 [ZEH = RKEH 149 168 317 0 0
26 |BFO0 K= KERRS 163| 115 278 0 0
271 (B EE RKEH 86| 172 258 4 1




